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Figure 3:  Existing (2006) Lane Use and Peak Hour AM (PM) Traffic Volumes
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Figure 6:  Opening Day (2010) Traffic Estimates

Ohio 
Turnpike  
(I-80/I-90)

Proposed east-west connector



27
+ 

0
= 

27
   

   
   

   
 

(2
9

+ 
0

= 
29

)
40

 +
15

0
= 

19
0 

   
  

(7
1

+ 
91

= 
16

2)
17

+
38

= 
55

   
   

   
 

(9
+ 

23
= 

32
) 10 + 13 = 23             

(10 + 43 = 53)
64 + 13 = 77        
(105 + 43 = 148)
15 + 150 = 165          
(30 + 91 = 121)

40 = 0 + 40
(21 = 0 + 21)

130 = 38 + 92
(71 = 23 + 48)

212 = 150 + 62
(143= 91 + 52) 88

 =
 5

2
+ 

36
(2

34
= 

17
2

+ 
62

)
10

7 
= 

52
+ 

55
(2

47
 =

 1
72

+ 
75

)
88

 =
 5

2
+ 

36
(1

98
 =

 1
72

+ 
26

)

18
6

+ 
0

= 
18

6 
   

   
   

   
(1

59
+ 

-4
7

= 
13

9)
0 

+
45

1
= 

45
1

(0
+ 

32
0

= 
32

0)

0 + 155= 155
(0 + 567 = 567)
0 + 155 = 155
(0 + 567 = 567)

10
6 

= 
0

+ 
10

6
(1

31
= 

-4
7

+ 
17

8)
45

1 
= 

45
1

+ 
0

(3
20

 =
 3

20
+ 

0)

99
+ 

77
= 

17
6 

   
   

   
   

(5
9

+ 
25

8
= 

31
7)

66
 +

26
= 

92
   

   
(4

4
+ 

86
= 

13
0)

90
+

52
= 

14
2 

   
   

  
(6

3
+ 

17
2

= 
23

5)

28 + 150 = 178           
(73 + 91 = 164)
121 + 13 = 134       
(270 + 43 = 313)
13 + 13 = 26        
(31 + 43 = 74)

261 = 225 + 36
(186 = 136 + 50)

255 = 38 + 217
(173= 23 + 150)

12 = 0 + 12
(8= 0 + 8) 18

 =
 0

+ 
18

(1
6

= 
0

+ 
16

)
97

 =
 7

5
+ 

22
(1

05
 =

 4
5

+ 
60

)
66

 =
 3

8
+ 

28
(3

9 
= 

23
+ 

16
)

40
+ 

26
= 

66
   

   
   

   
 

(1
17

+ 
86

= 
20

3)
28

7 
+

16
8

= 
45

5 
   

  
(2

71
+ 

55
9

= 
83

0)
12

6
+

10
3

= 
22

9 
   

   
(9

0
+ 

34
4

= 
43

4)

98 + 300 = 398          
(155 + 182 = 337)
81 + 75 = 156       
(207 + 45 = 252)
38 + 0 = 38        
(55 + 0 = 55)

180 = 75 + 105
(143 = 45 + 98)
202 = 26 + 176
(184= 86 + 98)

38 = 26 + 12
(111= 86 + 25) 88

 =
 7

5
+ 

13
(6

8
= 

45
+ 

23
)

75
3 

= 
48

8
+ 

26
5

(6
61

= 
29

6
+ 

36
5)

17
 =

 0
+ 

17
(4

3=
 0

+ 
43

)

0
+ 

14
28

= 
14

28
(0

+ 
10

13
= 

10
13

)
50

9 
+

0
= 

50
9 

   
   

(5
79

+ 
-1

49
= 

43
0)

16
2

+
0

= 
16

2 
   

   
  

(7
9

+ 
0

= 
79

)

66 + 0 = 66           
(158 + 0 = 158)
0 + 564 = 564
(0 + 341 = 341)
32 + 0 = 32       
(57 + 0 = 57)

490 = 490 + 0
(1796 = 1796 + 0)

194 = 194 + 0
(645= 645 + 0)
297 = 297 + 0

(1151= 1151 + 0)
86

4 
= 

86
4

+ 
0

(6
72

= 
67

2
+ 

0)
49

6 
= 

0
+ 

49
6

(4
87

 =
 -1

49
+ 

63
6)

48
 =

 0
+ 

48
(2

9=
 0

+ 
29

)

55
+ 

75
= 

13
0 

   
   

   
   

(1
23

+ 
45

= 
16

8)
34

5 
+

86
4

= 
11

91
   

   
(4

08
+ 

52
3

= 
93

1)
40

+
0

= 
40

   
   

   
(4

7
+ 

0
= 

47
)

140 + 0 = 140          
(94 + 0 = 94)
125 + 75 = 200      
(229 + 45 = 274)
105 + 488 = 593      
(149 + 296 = 445)

94 = 26 + 68
(186= 86 + 100)
202 = 26 + 176

(278= 86 + 192)
279 = 75 + 204

(202= 45 + 157)

10
7 

= 
11

+ 
81

(2
75

= 
86

+ 
18

9)
59

6 
= 

12
9

+ 
29

9
(1

49
0 

= 
98

9
+ 

50
1)

27
4 

= 
73

+ 
10

6
(7

48
 =

 5
59

+ 
18

9)

AM Existing + 2/3 AM Build Out = AM Total

(PM Existing + 2/3 PM Build Out = PM Total)

Py
le

 S
ou

th
 A

m
he

rs
t

SR-113

Middle Ridge Road

Ohio 
Turnpike  
(I-80/I-90)

Proposed east-west connector

Figure 7:  Design Year Day (2030) Traffic Estimates
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Figure 8:  Future Roadway Network Improvements



Figure 9:  Conceptual Alternatives

Alt. #2Alt. #1

Alt. #3



Figure 10:  Sample Typical Section



Figure 11:  Conceptual “Tower Median Alignment”



Figure 12:  Conceptual “Tower Parallel Alignment”



Figure 13:  Feasible Alternatives

Alt. #2
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1. The predictions in the Table are based upon our experience and understanding of the changes affecting the 
construction industry in Ohio.  BART sourced information from its own ODOT construction cost index and 
from outside construction analysts whom it believed had relevant information to contribute to developing 
these predictions.

2. We believe that the most important cost drivers of construction cost inflation for the next five years will be 
energy, steel, and cement.  Unlike many other construction materials, these items are impacted by 
international influences which are difficult to predict.
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